50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Fifth Semester B.E. Degree Examlnat;gg, Dec.2019/F4i.2 2020
Database Management System

Time: 3 hrs. o

1

Note: Answer any FIVE full questions, c@f

approach. (06 Marks)
b. With a neat block diagram, ¢Xplain the architecture of a typlcal DBMS. (10 Marks)
c¢. What are the respons1b121t1es@%%he DBA and the datab se designers? (04 Marks)
OR
a. v
- VY iii) Instg,nge iv) Canned Transaction. (08 Marks)
b. Draw an ER dtag Wam to represent the E&Jecﬁén Information System based on the following
description % ﬁ” P

eral candidates co%st elections in each constituency.
or independent. ]3 _election information system must
record the number of votes obtained by each candldate. _The system al 0 mamtams the voter
list and a voter normally belongs to a particular constitt

Note that the party details‘must also be taken cdr (12 Marks)
a. Define the follow,mg “erms i)

iv) Primary keY‘ i 8 c Gy 7 (05 Marks)
b. Enumerate thes ste;;s involved in o\g rtmg the ER constructs to corresponding relational

tables. s - (07 Marks)
c. Considering the schema

', sname , rating fag
Boats'(bid , bname colof) &
Reserves (sid , bid , day), 4
rite relational algebralceguerles for th%j %li%%mg

W)V Find names of s§ilors who have reserved boat # 103.

ii) Find names ofsailors who have reserved a red boat.

iii) Find names: ©f sailors who ha”%*"‘reserved a red or green boat.

iv) Find na\mo@mf sailors who ’ﬁw@ig reserved all boats. (08 Marks)
a. Explain with examples, tf@basic constraints that can be specified when a database table is

created in SQL. (12 Marks)

b.  Write SQL queries fo&)the following relational schema :
CUSTOMER (CID , CNAME , EMAIL , ADDR , PHONE)
ITEM (ITEM/NOy 3 A
SALES (CID ,IPEM_NO, # ITEMS , AMOUNT , SALE DATE)
SUPPLIER (SID , SNAME , SPHONE , SADDR)
SUPPLY#(SID ITEM_NO, SUPPLY _DATE, QTY)

& 1 of3




C.

a.

17CS53

i) List the items purchased by customer ‘Prasanth’.
ii) Retrieve items supplied by all suppliers starting rﬁ%ﬁin 2019 to 30" Jan 2019.

iii) Get the details of customers whose total purchasé‘% items worth more than 5000 rupees.
iv) List total sales amount, total items , average sale ount of all items.

v) Display customers who have not purchased al ! W}tems. (08 Marks)

f! e-3
What are assertions and triggers in SQ ??‘rlte a SQL prograrrfﬂ eate an assertion to
specify the constraint that the salary. of n employee must not be gicater than the salary of
the department. The employee wgrk for in the COMPANY atabase (07 Marks)
Write a trigger in SQL to call st@red procedure INFORM™ gUPERVISOR( ) whenever a
new record is inserted or up check whether an em loyee s salary is greater than the
salary of his or her direct sup sor in the COMPANY database (07 Marks)

How do you create a @;e!@mh SQL? Give exampleé}Can you update a view table? If yes,
how? If not, why not‘@%\ uss @"% W (06 Marks)
e )
A
4 OR, ¢
With real world" rﬁples explain the follo{% i) JDBC ii) Correlated queries
statements in SQL. (12 Marks)

5

iii) Stored Progedure iv) Schema

Write a cdf{f%;ete high level language ptogram (in Java or C) to display the rows of a

customemt@ e created in oracle havi%g < custid , custname , balance > columns with
(08 Marks)

)
P Module-4 ,

What are the problems cg@f‘gﬁd by insertion , u lies? Discuss with
an example. , ) (06 Marks)
For the below given relation R (A, B, C, Dr@; Kaﬁd its instance_, check whether the FDs
given hold or not. Give reasons. ’ f >

) A—B B — C i) (04 Marks)

LB C

bi | ¢
bz C1
b2 Ci
C3

(10 Marks)

Lecturer | Text
j ! il
1Tl 12
115 iEl
1 T3
52 T4
I3 T1
I3 TS5
L4 T6

(10 Marks)
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b. Define Multi valued Dependency and Join Depe Explain 4NF and SNF with
examples. ( Py (10 Marks)

Moduleaig ,

a. Describe the database inconsistency problems

b. With a neat diagram, explain the vario ?
c. Check whether the below schedule i
{b2,12(X), bl , r1(X), wl(X), rl

onflict serializable or not.
al, €2, c2}.

What is 2PL? Explain with éne ample ¢
How do you detect a de og:k uring concurrent tranSaction execution?
c. Explain the various d gba@ recovery techmquesQWTﬂgexamples

oP

30f3

[ost update , dirty reig and blind write.

s of a transaction exe¢ution.

(06 Marks)
(07 Marks)

(07 Marks)
(06 Marks)

(06 Marks)
(08 Marks)




